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(1) In the following question, select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives. 

निम्मनिखित प्रश्न में निये गए निकल्पों में से प्रश्न नि निन्ह (?) के स्थाि पर आिे 

िािी सोंख्या कप िनिए  

 
SSCCGL201708AUG-S3 : 16 

(a) 2  (b) 7  (c) 14  (d) 28 

  

(2) In the following question, select the number which can be 

placed at the sign of question mark (?) from the given 

alternatives. 

निम्मनिखित प्रश्न में निये गए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे 

िािी सोंख्या कप िूिीए|  

 
SSCCGL201710AUG-S1 : 16 

(a)  1  (b)  2  (c)  3  (d)  4 

  

(3) In the following question, which one set of letters when 

sequentially placed at the gaps in the given letter series shall 

complete it? 

_ yzaa _ y _ xy _ aazy _ 

निम्ननिखित प्रश्न में अक्षरपों का कौि सा समूह िािी स्थािपों पर क्रमिार रििे 

से िी गई अक्षर श्रोंििा कप पूरा करेगा? 

_ yzaa _ y _ xy _ aazy _ 

SSCCGL201708AUG-S2 : 8 

(a) xxzzx  (b) xxaza  (c) xzxzx  (d) aazzx 

  

(4) In the following question, select the number which can be 

placed at the sign of question mark (?) from the given 

alternatives. 

निम्मनिखित प्रश्न में निये गए निकल्पों में से परसि निन्ह (?) के स्थाि पर आिे 

िािी सोंख्या कप िुनिए|   

 
SSCCGL201708AUG-S2 : 16 

(a) 108  (b) 112  (c) 118  (d) 120 

 

(5) In the following question, which one set of letters when 

sequentially placed at the gaps in the given letter series shall 

complete it? 

निखित प्रश्न में अक्षरपों का कौि सा समूह िािी स्थािपों पर क्रमिार रििे से िी 

गई अक्षर श्रोंििा कप पूरा करेगा? 

efg _ _ eff _ ghhe _ eff _ gggh _ h 

SSCCGL201711AUG-S3 : 8 

(a) eghhfe (b) ghhhh (c) hegefh (d) hgefhe 

  

(6) In the following question, select the number which can be 

placed at the sign of question mark (?) from the given 

alternatives. 

निम्मनिखित प्रश्न में िीए गई निकल्पों में से प्रश्न निहों (?) के स्थाि पर आिे 

िािी सोंख्या कप िुनिए| 
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SSCCGL201711AUG-S3 : 16 

(a) 112  (b) 144  (c) 156  (d) 186 

  

(7) Select the missing number from the given responses 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए| 

23 ? 12 

6 13 7 

138 117 84 

SSCCGL201721AUG-S3 : 16 

(a)  9  (b)  13  (c)  17  (d)  15 

  

(8)  Select the missing number from the given responses: 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए| 

 
SSCCGL201722AUG-S2 : 16 

(a) 112  (b) 98  (c) 15  (d) 5 

 

(9) In the following question, select the number which can be 

placed at the sign of question mark (?) from the given 

alternatives. 

निम्ननिखित प्रश्नमें निये गए निकल्पों में से प्रश्न निह्न (?) के स्थाि पर आिे िािी 

सोंख्या कप िुनिए| 

12 13 156 

14 ? 154 

15 13 195 

SSCCGL201705AUG-S3 : 16 

(a)  11  (b) 16  (c)  21  (d)  31 

 

(10) In the following question, which one set of letters when 

sequentially placed at the gaps in the given letter series shall 

complete it? 

निम्ननिखित प्रश्न में अक्षरपों का कौि सा समूह िािी स्थािपों पर क्रमिार रििे 

से िी गई अक्षर श्रोंििा कप पूरा करेगा? 

l m _ o _ n m _ l _ n _ _ n m l 

SSCCGL201710AUG-S2 : 8 

(a)  molnon (b)  nolmoo 

(c)  nomloo (d)  noolmm  

 

(11) In the following question, select the number which can be 

placed at the sign of question mark (?) from the given 

alternatives. 

निम्मनिखित प्रश्न में निए गए निकल्प में से प्रश्न निह्न (?) के प्रश्न पर आिे िािी 

सोंख्य कप िुनिय|   

 
SSCCGL201710AUG-S2 : 16 

(a)  4  (b) 6  (c) 8 (d) 16 

  

(12)  Select the missing number from the given responses 

निए गए निकल पपों में से िुप् त सोंख् या िुनिए। 

10 4 2 12 

7 ? 3 15 

8 5 1 3 

SSCCGL201717AUG-S1 : 16 

(a)  9  (b)  1  (c)  25  (d)  2 

  

(13)  In the following question, select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives. 

निम्ननिखित प्रश्न में निए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे िािी 

सोंख्या कप िुनिए| 

 
  

SSCCGL201709AUG-S1 : 16 

(a) 53  (b) 56  (c) 59  (d) 66 

 

(14)  In the following question, which one set of letters when 

sequentially placed at the gaps in the given letter series shall 

complete it? 

निम्ननिखित प्रश्न में अक्षरपों का कौि सा समूह िािी स्थािपों पर क्रमिार रििे 

से िी गई अक्षर श्रोंििा कप पूरा करेगा? 

a _ bc _ a _ bcdabc _ da _ cd _ 

SSCCGL201709AUG-S2 : 8 

(a) acbddb (b) adbcbd 

(c) cabddc (d) ddcbbc  

 

(15) In the following question ,select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives? 

निम्ननिखित प्रश्न में निए गए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे 

िािी सोंख्या कप िुनिए | 

 
SSCCGL201709AUG-S2 : 16 

(a) 189  (b) 227  (c) 277  (d) 339 

  

(16)  In the following question, select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives. 

निम्ननिखित प्रश्न में निए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे िािी 

सोंख्या कप िुनिए| 

 
SSCCGL201711AUG-S1 : 16 

(a) 33  (b) 34  (c) 36  (d) 37 

 

(17) In the following question, from the given alternative words, 

select the word which cannot be formed using the letters of the 
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given word. 

निए गए प्रश्न में, निम्ननिखित निकल्पों में से िह शब्द िुनिए जप निए गए शब्द 

के अक्षरपों का प्रयपग करके िही ों बिाया जा सकता है। 

REASONABLE 

SSCCGL201712AUG-S1 : 12 

(a) EASE   (b) NOBLE 

(c) SEASON  (d) SOLAR   

   

(18) Select the missing number from the given response 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

3 2 625 

5 3 4096 

4 2 ? 

SSCCGL201712AUG-S1 : 16 

(a) 216  (b) 1024  (c) 1296  (d) 2024 

 

(19)  In the following question, select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives. 

निम्ननिखित प्रश्न में निए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे िािी 

सोंख्या कप िुनिए| 

 
SSCCGL201712AUG-S2 : 16 

(a) 3  (b) 4  (c) 8  (d) 14 

 

(20)  In the following question, select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives. 

निम्ननिखित प्रश्न में निए गए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे 

िािी सोंख्या कप िुनिए 

 
SSCCGL201710AUG-S3 : 16 

(a)  35  (b)  42  (c)  45  (d)  95 

 

(21)  In the following question, select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives. 

निम्मनिखित प्रश्न में निये गए निकल्पों में से प्रश्न नि निन्ह (?) के स्थाि पर आिे 

िािी सोंख्या कप िुनिए 

 
SSCCGL201712AUG-S3 : 16 

(a)  2  (b)  4  (c)  6  (d)  8 

  

(22)  In the following question, select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives. 

निम्ननिखित प्रश्न में निए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे िािी 

सोंख्या कप िुनिए| 

 
SSCCGL201711AUG-S2 : 16 

(a) 14  (b) 15  (c) 17  (d) 19 

 

(23)  Select the missing number from the given responses 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

104 ? 57 

87 78 9 

103 78 25 

SSCCGL201717AUG-S2 : 16 

(a) 35  (b) 47  (c) 54  (d) 78 

 

(24) Select the missing number from the given response 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

 
SSCCGL201709AUG-S3 : 16 

(a) 54  (b) 60  (c) 62  (d) 66 

 

(25) In the following question, select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives. 

निम्ननिखित प्रश्न में निए गए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे 

िािी सोंख्या कप िुनिए 

2 4 1 

5 3 5 

7 2 6 

39 17 ? 

SSCCGL201716AUG-S3 : 16 

(a) 11  (b) 31  (c) 32  (d) 37 

 

(26)   Select the missing number from the given responses 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

23 114 204 

45 25 36 

68 89 ? 

SSCCGL201717AUG-S3 : 16 

(a) 157  (b) 168  (c) 21  (d) 15 

 

(27)  Select the missing number from the given responses. 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

13 7 17 

17 23 19 

221 ? 323 
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SSCCGL201718AUG-S2 : 16 

(a) 30  (b) 102  (c) 29  (d) 161 

 

(28)  Select the missing number from the given responses. 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

21 27 29 

? 96 142 

57 69 113 

SSCCGL201718AUG-S3 : 16 

(a) 46  (b) 69  (c) 29  (d) 78 

 

(29)  Select the missing number from the given response 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

3 4 2 14 

6 5 4 44 

5 2 7 ? 

SSCCGL201718AUG-S1 : 16 

(a) 58  (b) 14  (c) 49  (d) 4 

 

(30) Select the missing number from the given responses. 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

102 89 ? 

87 45 25 

15 44 50 

SSCCGL201719AUG-S1 : 16 

(a) 13  (b) 25  (c) 75  (d) 15 

 

(31) In the following question, select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives. 

निम्ननिखित प्रश्न में निए गए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे 

िािी सोंख्या कप िुनिए 

 
SSCCGL201716AUG-S1 : 16 

(a) 48  (b) 52  (c) 55  (d) 58 

 

(32)  In the following question, select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives. 

निम्ननिखित प्रश्न में निए गए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे 

िािी सोंख्या कप िुनिए 

 
SSCCGL201716AUG-S2 : 16 

(a) 32  (b) 35  (c) 46  (d) 47 

 

(33) Select the missing number from the given responses. 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

 
SSCCGL201719AUG-S2 : 16 

(a) 39  (b) 76  (c) 146  (d) 333 

 

(34) Select the missing number from the given response 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

 
SSCCGL201719AUG-S3 : 16 

(a) 172  (b) 75  (c) 77  (d) 170 

 

(35) Select the missing number from the given response 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

216 16 49 

3 4 ? 

6 2 7 

SSCCGL201720AUG-S1 : 16 

(a) 42  (b) 56  (c) 2  (d) 5 

 

(36) Select the missing number from the given responses: 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

18 90 5 

13 143 11 

7 ? 5 

SSCCGL201721AUG-S1 : 16 

(a) 12  (b) 2  (c) 53  (d) 35 
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(37) Select the missing number from the given response 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

116 94 135 

21 ? 87 

95 47 48 

SSCCGL201721AUG-S2 : 16 

(a) 48  (b) 47  (c) 144  (d) 94 

 

(38) In the following question, select the number which can be 

placed at the sing of question mark (?) from the given 

alternatives. 

निम्ननिखित प्रश्न में निए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे िािी 

सोंख्या कप िुनिए| 

 
SSCCGL201705AUG-S1 : 16 

(a) 43  (b) 49  (c) 59  (d) 71 

 

(39) In the following question, which one set of letters when 

sequentially placed at the gaps in the given letter series shall 

complete it? 

निम् िनिखित प्रश् ि में अक्षरपों का कौि सा समूह िािी स् थािपों पर क्रमिार रििे 

से िी गई अक्षर श्रोंििा कप पूरा करेगा? 

a _ c a a b _ a _ b c a a b _ a _ b _ a 

SSCCGL201706AUG-S3 : 25 

(a) cbacba (b) bcacac (c) acbaca (d) bbacaa 

 
(40) In the following question, select the number which can be 

placed at the sign of question mark (?) from the given 

alternatives. 

निम्ननिखित प्रश्न में निए निकल्पों में से प्रश्न निन्ह (?) के स्थाि पर आिे िािी 

सोंख्या कप िुनिए| 

7 6 3 

2 5 1 

8 9 4 

115 273 ? 

SSCCGL201708AUG-S1 : 16 

(a) 14  (b) 15  (c) 16  (d) 18 

 

(41) Select the missing number the given responses 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

91 299 493 

? 23 29 

7 13 17 

SSCCGL201723AUG-S3 : 16 

(a) 13  (b) 17  (c) 84  (d) 98 

 

(42) Select the missing number from the given response 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

? 105 96 

13 15 12 

5 7 8 

SSCCGL201720AUG-S2 : 16 

(a) 9  (b) 201  (c) 65  (d) 101 

 

(43) select the missing number from the given responses 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

16 17 28 

21 23 27 

? 391 756 

SSCCGL201722AUG-S3 : 16 

(a) 377  (b) 351  (c) 336  (d) 306 

 

(44) Select the missing number from the given response 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

45 11 1 

12 0 1 

57 11 ? 

SSCCGL201723AUG-S1 : 16 

(a) 0  (b) 68  (c) 2  (d) 10 

 

(45)  

Select the missing number from the given responses: 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

5 3 125 

10 4 10000 

2 5 ? 

SSCCGL201722AUG-S1 : 16 

(a) 80  (b) 7  (c) 10  (d) 32 

 

(46) the missing number from the given responses: 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

194 100 ? 

215 113 79 

21 13 29 

SSCCGL201723AUG-S2 : 16 

(a) 50  (b) 94  (c) 25  (d) 47 

 

(47) Select the missing number from the given response 

निए गए निकल्पों में से िुप्त सोंख्या िुनिए | 

134 34 100 
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117 86 31 

87 ? 64 

SSCCGL201720AUG-S3 : 16 

(a) 120  (b) 23  (c) 55  (d) 30 
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Answer Key 

1 C 2 A 3 C 4 D 5 C 

6 C 7 A 8 C 9 A 10 B 

11 A 12 D 13 B 14 B 15 B 

16 C 17 C 18 C 19 B 20 A 

21 B 22 B 23 B 24 D 25 B 

26 B 27 D 28 D 29 C 30 C 

31 D 32 D 33 B 34 C 35 C 

36 D 37 B 38 D 39 B 40 B 

41 A 42 C 43 C 44 C 45 D 

46 A 47 B       
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Solution: 

(1) 

7×3×2×4=168, 8×3×1×7=168                                                       

  Similarly, 1×6×2×14=168. 

hence 14 is the correct  answer. 

 

(2) 

3+17+4+11=35  

2+16+10+7=35  

So, 6+13+15+1=35  

So, 1 is correct choice.  

 

(4) 

(4+7)× (3+5) =88 

(2+6)× (5+8) =104 

(7+8)× (5+3) =120 

 

(5) 

efg h/ e eff g ghhe/ e eff f gggh h h   

 

(6) 

(2 + 3)× [(2 + 3)-1] = 20 

(3 + 6)× [(3 + 6)-1] = 72 

(3 + 7)× [(3 + 7)-1] = 90 

(7 + 4)× [(7 + 4)-1] = 110 

(1 + 7)× [(1 + 7)-1] = 56 

(7 + 6)× [(7 + 6)-1] = 156 

 

(7) 

Here, 23×6=138. So,12×7=84. 

 

(8) 

            12 × 3 = 36 

            9 × 5 = 45 

            7 × 15 = 105 

 

(9) 

                12 × 13 = 156 

                14 × 11 = 154 

                15 × 13 = 195 

  

 

(12) 

(10 × 2) – (4 × 2) =12 

(8 × 1) – (5 × 1) =3 

(10 × 3) – (2 × 3) =15 

 

(13) 

56 × 3 =168 

56 × 32 =504 

56 × 33 =1512 

 

(14) 

a a b c d / a b b c d / a b c c d / a b c d d 

 

(15) 

(1×2×5×3)+(1+2+5+3) 

 

(16) 

(7 × 4 × 8) – (3 × 3 × 6) =170 

(3 × 4 × 9) – (5 × 2 × 3) =78 

(3 × 2 × 8) – (4 × 3 × 1) =36 

 

(17) 

SEASON There is no double ‘S’ in the given word.  

 

(18) 

3+2=54=625 

5+3=84=4096 

4+2=64=1296 

  

 

(19) 

8 × 6 × 2 = 96  

15 × 2 × 2 = 60  

4 × 5 × 6 = 120  

  

 

(20) 

(3 × 10 × 6) + 6 = 186 

(9 × 5 × 3) + 3 = 138 

(5 × 7 × 5) + 1 = 36 

(3 × 2 × 5) + 5 = 35 

 

(21) 

3+2+5+4+1+7=22 

1+2+7+6+4+2=22 

2+1+3+11+1+4=22 

 

(22) 

2+5 =7,7 +1 = 8 

5+5 = 10 ,10+1 =22 

14+5 =19.19+1 = 20 

9+5 = 14, 14+1 =15 

 

(24) 

(4×3)+(2×5)=22 

(1×2)+(7×6)=42 

(8×7)+(5×2)=22 

  

 

(27) 

13 × 17 =221 

7 × 23 =161 

17 × 19 =323 

  

 

(28) 

57+21=78 

69+27=96 

113+29=142 

 

(30) 

102=87+15 

89=45+44 

75=25+50 

 

(31) 

92+62=117 

82+22=68 

72+32=58 

 

(32) 
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(1+7)×(1+6)=56  

(1+4)×(1+8)=45  

(2+3)×(2+6)=40 

 

(34) 

111-34=77  

314-39=275  

205-102=103  

 

(35) 

63=216 

24=16 

72=49 

 

(36) 

18 × 5 = 90  

13 × 11 = 143  

7 × 5= 35  

 

  

 

(37) 

95+21=116 

48+87=135 

47+47=94 

 

(38) 

The pattern is 

(3×2) × (5×1) +1 = 31 

(4×2) × (3×6) +1 = 145 

(2×1) × (5×7) +1 = 71 

 

(40) 

7 × 2 × 8 + 3 = 115 

6 × 5 × 9 + 3 = 273 

Similarly, 3 × 1 × 4 + 3 = 15 

 

(42) 

15 × 7 =105 

12 × 8 = 96 

13 × 5  =65 

 

(43) 

17 × 23 = 391  

28 × 27 = 756  

16 × 21 = 336  

 

(44) 

Adding the values in columns we get 1+1 = 2 

  

 

(45) 

53=125 

104=10000 

25=32 
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